
CIMEX TR75

Стр. 1



CIMEX TR75

Стр. 2



CIMEX TR75

Стр. 3



Номер Описание Кол-во Цена Номер Описание Кол-во Цена

TR75-A01 Foot Assy 1 124.00 TR75-A29 Packing φ12 1 0.80

TR75-A02 Sunk head bolt M12×55 7 2.80 TR75-A30 Plug M12×1.25 1 1.20

TR75-A03 Metal sheet 1 60.00 TR75-A31 O-ring 160*4 1 12.00

TR75-A04 Plastic Foot 1 56.00 TR75-A32 Bellows clamp 2 6.00

TR75-A05 Washer SW M12 11 0.20 TR75-A33 Band guide,bellows 2 2.40

TR75-A06 Nylon nut M12 11 0.40 TR75-A34 Socket head bolt M6×50 2 0.40

TR75-A07

Sunk head bolt 12*70 H( 

Foot Assy without 

Handle) 4 3.20 TR75-A35 Cylinder nut M6 2 2.40

TR75-A08

Sunk head bolt 12*70 H( 

Foot Assy with Handle) 4 3.20 TR75-A36 Pin 6×8 2 0.08

TR75-A09 Washer M12 11 0.20 TR75-A37 Chinese bellows 1 144.00

TR75-A10

Socket head bolt 

M10×20 4 0.40 TR75-A37 German bellows(optional) 1 320.00

TR75-A11

Socket head bolt 

M10×35 4 0.40 TR75-A38 O-ring 160*4 1 12.00

TR75-A12 Foot plate 1 92.00 TR75-A39 Socket head bolt M10×35 4 0.40

TR75-A13 Packing φ12(CU) 1 0.80 TR75-A40 Guide cylinder 1 176.00

TR75-A14 Oil plug M12*1.25 1 1.20 TR75-A41 O-ring  160×4 1 12.00

TR75-A15 O-ring 87.5×3.55 1 6.40

TR75-A16 Main spring 4 96.00

Inner spring 2 16.00

Outer spring 2 32.00

TR75-A17 Nut M18×1.5 1 0.40

TR75-A18 Piston end 1 20.00

TR75-A19 Stopper,lower 1 12.00

TR75-A20 Spring cylinder 1 152.00

TR75-A21 Stopper,upper 1 13.32

TR75-A22 Piston rod 1 92.00

TR75-A23 Nylon plug 2 0.80

TR75-A24 Piston pin 1 8.00

TR75-A25 O-ring φ100×3.1 1 6.40

TR75-A26 Protective sleeve 1 108.00

TR75-A27 Copper packing M16 1 2.40

TR75-A28

Level gauge, plug type 

M16×1.5
1

6.00

CIMEX TR75

Стр. 4



Номер Описание Кол-во Цена Номер Описание Кол-во Цена

TR75-B1 Back of crankcase 1 48.00 TR75-B33 Hex bolt M10*50 2 0.40

TR75-B2 O-ring φ22.4*2.65 1 0.80 TR75-B34 Spring washer φ10 2 0.08

TR75-B3 Bolt 8*20H,SW 1 0.40 TR75-B35 Nylon nut M10 2 0.20

TR75-B4 Washer φ8 1 0.40 TR75-B36 Flatgasket φ10 2 0.08

TR75-B5 Stop ring R-52 1 0.40 TR75-B37 Hoop  φ40 1 1.08

TR75-B6 Bearing 6304 1 21.20 TR75-B38 Syphon, air filter 1 26.80

TR75-B7 Connecting rod 1 52.00 TR75-B39 Lock washer,clutch 1 0.08

TR75-B8 Gear wheel 1 92.00 TR75-B40 Clutch assy 1 98.00

TR75-B9 Bearing 6207 1 29.20 TR75-B40-1Clutch guide 1 2.00

TR75-B10 Crank case 1 380.00 TR75-B40-2Clutch spring 1 3.20

TR75-B11 Bearing 6204－2Z 1 14.80 TR75-B40-3Clutch shoe 4 14.00

TR75-B12 Washer φ8 1 0.40 TR75-B40-4Clutch boss 1 32.00

TR75-B13 Stop ring φ47 3 0.40 TR75-B40-5Clutch spring 1 3.20

TR75-B14 Bolt 8*20H,SW 1 0.40 TR75-B40-6Clutch guide 1 2.00

TR75-B15 O-ring φ43.7×1.8 1 2.80 TR75-B41 Woodruff Key 1 0.80

TR75-B16 Bearing cover 1 4.00 TR75-B42 Engine 1 0.00

TR75-B17 Nut M6 1 0.20 TR75-B43 Engine Plate 1 20.00

TR75-B18 Bolt 6*20 T 1 0.40 TR75-B44 Hex bolt M8*40 4 0.40

TR75-B19 Flat key5*20 1 0.80 TR75-B45 Lock nut M8 4 0.20

TR75-B20 Pinion 1 60.00 TR75-B47
Throttle wire

1 4.00

TR75-B21 Bearing 6204 1 14.80 TR75-B48 Band 1 0.40

TR75-B22 Stop ring 35 1 0.40 TR75-B49 Throttle lever 1 24.00

TR75-B23 Bearing 6007-2Z 1 28.00 TR75-B50 Bolt M8, air filter 1 20.00

TR75-B24 O-ring G-100 1 6.40 TR75-B51 Plastic cover , air filter 1 0.00

TR75-B25 Spacer,cluth drum 1 28.00 TR75-B52 Thick sponge , extr air filter 1 6.68

TR75-B26 Oil seal TC-40528 1 6.40 TR75-B53 velvet sponge, extra air filter 1 0.00

TR75-B27 Clutch drum 1 50.00 TR75-B54 Seal strip, extra air filter 1 6.68

TR75-B28 Lock washer 1 0.40 TR75-B55 Flatgasket φ8 4 0.08

TR75-B29 Bolt 8*20H,SW 1 0.40 TR75-B56 Spring washer φ8 4 0.08

TR75-B32 Bolt 6*18H,SW 9 0.40

CIMEX TR75

Стр. 5



Номер Описание Кол-во Цена

TR75-C1 Handle 1 112.00

TR75-C2 Roller 2 8.00

TR75-C3 Flange bolt 5*25 H 4 0.80

TR75-C4 Nut M5 4 0.20

TR75-C5 Shock absorber 2 32.00

TR75-C6-1 Socket head bolt 10*20 T 4 0.40

TR75-C6-2 Spring washer φ10 8 0.08

TR75-C7 Bolt 8*30 T 4 0.40

TR75-C8 Hex Bolt M8*20 2 0.40

TR75-C9 Gasket φ8 2 0.08

TR75-C10 Fuel tank 1 52.00

TR75-C11 Nylon nut M8 2 0.40

TR75-C12 Cap assy, tank 1 7.20

TR75-C13 O-ring 22*2.4 1 0.80

TR75-C14 ptfe washer ￠18 1 0.80

TR75-C15 Copper connector 1 6.40

TR75-C16 Fuel cock assy 1 6.00

TR75-C17 Hose band 9.5D 1 0.80

TR75-C18 Fuel hose 1 4.00

TR75-C19 Hose band 9.5D 1 0.80

CIMEX TR75

Стр. 6



Стр. 7



Стр. 8



Стр. 9



Стр. 10



Стр. 11



Стр. 12



Стр. 13



Стр. 14


